Chapter 7 — Parts
Cl ion source parts

Cl ion source parts

Description

HP part number

Cl ion source (untested)
Cl source body
Cl drawout plate
Cl drawout cylinder
Cl GC interface socket
Cl socket seal
Cl mounting plate assembly
lon focus (one-piece)
Lens insulators (pair)
Entrance lens
Filament assembly

Screw, M2 x 5L
Screw, M2 x 6L
Screw, M2 x 8L
Screw, M3 x 3L

attaches mounting plate to ion source body)
attaches ion source to radiator)

attaches filament to ion source)

attaches lens stack to ion source)

— o~ — —

Washer, curved-spring, for GC interface socket

Box for ion source shipping and storage
Bracket for shipping and storage box

(1072-60002
(1072-20005
(1072-20007
(1072-20008
(1072-20011
(1072-20012
(1072-60009
05971-20143
05971-20130
05971-20126
05972-60053

0515-1077
0515-0221
0515-1046
0515-1446

3050-1324

1540-1201
(1072-00004

7-4



Chapter 7 — Parts
Clion source parts

CI INTERFACE SOCKET

FILAMENT ASSEMBLY

M2 x 8L SCREW

M2 x 5L SCREW

Cl SOCKET SEAL

LENS INSULATOR

CI DRAWOUT CYLINDER /

WAVY WASHER

M3 SET SCREW

Cl SOURCE BODY

MOUNTING PLATE ASSEMBLY

ENTRANCE LENS

N

ION FOCUS LENS

CI DRAWOUT PLATE

7-5



